a(3x - 2y) + b(2y - 3x)

@D a(x-2y) - 3b(x—2y)
® a(2x - 3y) - b(3y - 2x)

® 2x(a-2b) - 3y(2b - a)

@ x(a+b)+yla+b)
@)ax-y) +bly- )

B

QA ¢ (a-b)(3x-2y)
O (a - 3b)(x—2y)
x+y)(a+b)

®




o2 & $HAEA R AFEaid o gl A2?

@ x? - 16x + 64 @ 4x* —4x+1
1

® x? + 8xy + 16y (@’)x2 + §x—|— 1

® 2x% — 4xy + 2y?

B

@® x%2 - 16x +64 = (x - 8)2
@ 4x? —4x+1=(2x-1)?
® x% + 8xy + 16y = (x + 4y)?
® 2x? — 4xy + 2y% = 2(x - y)?




2< Vx<4% A% x7taslet @, o 2] 3he Fotolat

2=Vi,4=+16

Vi< yi< VI6 & WESE A5 x e
x=25,6,7 89, 10, 11, 12, 13, 14,15, 16
wahA a = 12




4. V5O 2% RS a T B, VA0 2 a § AFEEl] LeRE?

® 10a + 10 (@)ma +20 ® 10a
@ 10a - 10 ® 10a - 20

Bl
)
Il
=

2< V5<30|BEE JF HHEL22 451
g’ \/3:a+2
V500 = 10 V5 = 10 (a + 2) = 10a + 20




THe- A A = ab(a+b) - ab 9 ) B = a*b - 2ab ] 1]
#7 2 AL BE Zepet

ot

his

drgolrt.

vV V. v Vv
0z
o of
©

0
L
®

~&B

A =ab(a+b)—ab=ab(a+b-1) |1,
B = a*b - 2ab = ab(a - 2) °|t}.
OB 9 5= ab & a -2 o[t}

@B A ab = 7t 9] F5< o]k




ofgfet A2 Al 9] ta BAE £ 522 e H?

a=4,b=5-V2,c= 17

D a<b<c @b<a<c ® c<a<b

@ b<c<a ® a<c<b

B

(a=4

(2) b o] W9
—Vi<-V2<-+1
5-Vi<5-V2<5-+1
L 3<5-1V2<4
(3)c o] HY

V16 < V17 < V25

L 4<\17<5

L b<a<c




7. AAZ n ol diste] i o &4 FEL fn)olet T uf, f£(175) -
2f(28) = a V7 +b oItk o] i, ab ©] & FohH?

-5 @-s ® -1 @ 1 ® 3

B

i)13< V175 =5V7 < 14
s f(175) =547 - 13
i)5<V28=2V7<6

5 f(28) =247 -5

S f(175) = 2£(28) = 5V7 =13 -4+7+ 10
=\7-3

Vi-3=aV7+bo|B2

a=1,b=-3

. ab: 1)((—3) = —3




